Service Kit

753-0/712

CODE: ST-140

DATE: August 29, 1997

suyByJ: ldler brake/bracket replace-

ment.

Service Kit 753-0712 replaces idler brake bracket assembly part number 784-5180B.

FLAT IDLER
NOT PART OF KIT

2
Service Kit 753-0712 consists of:
Ref. | Part
No. | No. Description Qty.
1 710-0459 Hex screw-3/8-24 x 1.60 1
2 712-0116 Hex lock nut-3/8-24 1
3 784-5175B| Idler/brake bracket 1

Form No. 770-0816A

Service Kit

753-0712

CODE: ST-140

DATE: August 29, 1997

suBJ: ldler brake/bracket replace-

ment.

Service Kit 753-0712 replaces idler brake bracket assembly part number 784-5180B.

FLAT IDLER
NOT PART OF KIT

2
Service Kit 753-0712 consists of:
Ref. | Part
No. | No. Description Qty.
1 710-0459 Hex screw-3/8-24 x 1.50 1
2 712-0116 Hex lock nut-3/8-24 1
3 784-5175B| Idler/brake bracket 1

Form No. 770-0816A




